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General Physics Chapter 3 & 4 Pre-Test

1.) (8 pts) Tampy the Raccoon has discovered a pack of sinister looking squirrels
approaching his maximum security bachelor pad (or maxi-pad for short). Determine the
polar coordinates of the squirrels if they are currently 400 ft east and 550 ft north of the

maxi-pad. Rectangular Coordinates (400 ft, 550 ft)
(r, é)
X=400 Y= 550

( - m«jz ﬁ'- (%0)1* (S\S'b)—L = (0801&\
oo 2 du ' (52): B

S

(68684, 51°)

2.) (8 pts) With the squirrel crisis averted, Tampy now trains his sights on the dumpster of a
new Mediterranian restaurant that recently . According to his Raccoon-dar, the

dumpster is located at the polar coordinates i, Jﬁ°). Find the location in q 0

rectangular coordinates. -
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